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S . SHNT &AL 1,000,000,0002 x 0.63/100 = 6,300




D (234) 2

1A

o
40

Jo
Ol

i
oo
Ja

== 2 : (401) A&HIYL=0l

& z J| E
S 25 dots @=5A2  500,000,0002 x 0.63/100
HED(ES-ME)IEZA 22 4T A B A

300,000,000& x 0.63/100

8= =22 HeSA 200,000,000 x 0.63/100
Ole==X9 2. =2 WESA 100,000,00082 x 0.90/100
BH2AlE MO RS A

100,000,0009 x 0.90/100
FEEMIAAE 500,000,0009 x 0.63/100
.22 L322 DH2AH(SS, sES)

500,000,0009 x 0.63/100
4O 225 M3C [ISY AARDAAN AlAHY S

10,000,0008 x 124 x 0.72/100

Hda~EG 2t L2 DHSA

1,000,000,000& x 0.63/100

, 150

,890

,260
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900

, 150

, 150

864

,300




ZH 1 (200) KHERXS & : (230) SEXAFS Mg @ (235) JIHEX 2 (401) AlEH L2 (cre) M)
I} = ¥ & =
of &F oA = Z Ak = J| =
2|8 M E = Of A oM
235
I H & X 182,500 117,600 64,900
401
Al &H 2=l 120,000 60,000 60,000
119,136 60,000 59.136 |01 Al & H]
[AF 4T ]
So BIRFAXN L5 U HH DA
120,000,000% x 99.28/100 = 119,136
864 0 864 (03 AlZ=0H|
[AF T T}
So | BIRFAXN L5 SH U 2A
120,000,0009 x 0.72/100 = 864
405
XHAHE SHI S 62,500 57,600 4,900
62,500 57,600 4.900 |01 Xrars S
[AF T D]
NSETHLF DgHI 3¢ 30,000,000 x 10§ = 30,000
HEEHST FED Y 15,000,000& x 20§ = 30,000
HNEZHSE FHEEHIT 20 2.500,0008 x 10§ = 2 500
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20138 &= NH=HKXE oldldl

1,001,500,000&

(200) KHEXX = D (230) REXAEE D (237) 2IIPHIE 2 1 (405) KAFESHIS (crel : mgl)
o A d =
IS 2 At = p) =
2|8 Mg = Of A oM
5 430,0009 x 30K = 1,290
SIA 50,0009 x 3} = 750
280
HI S S 5 i A3t 831,600 820,400 11,200
082
HEXUS A3 M 831,600 0 831,600
601
NI =P 831,600 0 831,600
831,600 0 831,600 =N RIA2 A S
sy
T MSENS 23 <33 104,400,0008 x 42 = 417,600
F S8z 2= gEs 103,500,0008 x 427| = 414,000
800
oll bl Hl ,001,500 1,020,000 18,500
801
ofl bl Hl ,001,500 1,020,000 18,500
801
GilHI bl ,001,500 1,020,000 18,500
,001,500 1,020,000 A 18,500 R D]

1,001,500




